([ ] [ ]
Creative Playthings

ASSEMBLY MANUAL
ADULT ASSEMBLY REQUIRED. /\ CAUTION: Small Parts. Keep from
Intended for Ages 2 to 12 Years. children until fully assembled

PLAYWALL ASSEMBLIES PARTS

Lo o
A- (1) 31523-102 End Wall Support - 2 x 4 x 56-3/4"
[ o]

B -(2) 31524-102 Side Wall Support - 2 x 4 x 47-1/2"

W77 T 777

C-(17) 31936-102 Wall Slat -5/4 x 6 x 20"

S

(6) 17036-1002 Lag Screw - 5/16 x 2-1/2"

Pmisrununnnnie

(68) 17020-115 Screw - #10 x 1-5/8" Flat Head Phillips

C @
If the Play Wall is being used in conjunction with a

. : (6) 17002-206 6) 15081-704
Skybox Play Floor, install the Play Floor first. 5/16" Flat Washer 1 Dla Hole Cap

All hardware on this set is specially W ;“
coated for corrosion resistance. If non- < |
Creative Playthings hardware is used, /Q

it MUST be galvanized or stainless
steel.

—

STEP 1 — FIND PILOT HOLES

There are pre-drilled pilot holes through the gym
posts and the Skybox posts. Note the position on
the inside face of all posts and the back face of the
Skybox posts.

This is where the Wall Supports will mount.

SKYBOX PLAY WALLS
{ © Copyright 2002, Creative Playthings. Printed in USA
19491-300 Rev E (03-21)




SKYBOX PLAYWALLS

STEP 2 — WALL SUPPORTS

Mount the End Wall Support (A) to the back of the
Skybox posts using two 5/16 x 2-1/2" Lag Screws and
two 5/16" Flat Washers as shown.

Mount the Side Wall Supports (B) to the inside face of
the posts using two 5/16 x 2-1/2" Lag Screws and two
5/16" Flat Washers each, as shown.

Note: Depending on the layout of the play structure, you
may want to omit one or more walls to allow access.

STEP 3 — HOLE CAPS

Insert Hole Caps into the counter-bored holes in the
Walls Supports to cover the fasteners.

STEP 4 — WALL SLATS

The End Wall Support is slightly higher than the Side
Wall Supports. The Walls Slats (C) are to be fastened
to the wall supports at the top and Skybox base at
the bottom. When placing the wall slats be sure the
screw holes overlap the wall supports and skybox
base equally.

Secure seven wall slats to the end wall support and
Skybox base using four #10 x 1-5/8" screws each.
Space them evenly between the posts.

Secure five wall slats to each side wall support and
Skybox base using four #10 x 1-5/8" screws each.
Space them evenly between the posts.

ASSEMBLY INSTRUCTIONS

Wﬂ 5/16 x 2-1/2"
/Ogi/o Lag Screws

B
S
G,

T

0

1" Hole Caps

[V

\
#10 x1-5/8"
Screws

Gapsz2-1/2x
=
/ = 5

— T H

Gaps = 1-5/8"

1

L —
\

T\

PLEASE CONSULT YOUR ORIGINAL GYM ASSEMBLY MANUAL FOR
MAINTENANCE AND SAFETY INSTRUCTIONS

SKYBOX PLAY WALLS
19491-300 Rev E (03-21)

© Copyright 2002, Creative Playthings. Printed in USA



